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A firstborn that was 791 (Kkilled) within thirty days

OVERVIEW

A child within the first thirty days of its birth (as well as an animal within the first
eight days of its birth) is deemed a 751 po0; it may be an aborted fetus (a non viable
life form). However if we know that the child (or animal) went through a full term
pregnancy then it is not a 991 poo, but considered a viable person (animal) in
regards to certain laws.

X'"7 taught that a firstborn child that was 7701 within thirty days of his birth is not
redeemed (by his father) as other first born. This is derived from the 7105 of 775 I
77on;* wherein the word X excludes this q0Iw M2, w1 maintains that 7w
means he was killed. mo0n infers from °"wA that if a child had a full term
pregnancy, and is therefore not a %91, he will have to be redeemed even if he died
within thirty days of his birth. m»01n disagrees with *"7 in this matter, as well as
with the translation of the word q7vIw.

- 91 *pNnpn Ye

>'"w9 explained that the term 7701 here means that he was (actually) killed -
= 19 PPRT JIMNYND RIP TII0KIN RD 10810 NN

However if the 7102 died on his own accord; no one killed him, the w9 of X is
not needed to teach us that we do not redeem this deceased 71132 -

= DTN YIN 1210 71D ‘2959 NN
For it is written ‘and his redemption is from when he is one month old, then he
should be redeemed’.” We derive from this 105 if he did not reach the age of one month

(because he died [of natural causes]) he need not be redeemed.®
= 1MNYND TOIVNIN X913 AN

However when he was Killed, it is necessary to let us know that he still needs not to
be redeemed -

! The word ‘701" (as well as the term 77970) usually refers to a person or animal which who was attacked and
literally torn apart by the attack. It also commonly refers to a diseased person or animal that cannot live (on account
of this disease) for more than twelve months.

2yo,m [mp] "aTa.

3993 717"72 and P70 "7,

* 10 ow.

> This 109 indicates that he must be a viable child and not a 751. See following footnotes # 6 & # 8.

® Since he died naturally, it would indicate that he was a 991. See following footnote # 8.
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= 19P999 91 D9 NDY IN 1N IIVPNT IND IN 1999IN NDT
And we do not say that that if he weren’t killed, he would have lived past the
thirty day minimum and he is not considered an aborted fetus, and he should

therefore be redeemed. The X 7100 rejects this line of reasoning and instructs us that even a
3771 need not be redeemed. This concludes >"w7s.

NN comments on "'WID:
=199 29N N0 NI PYIN 171999 1A 13 0P ONRY 75‘\8? wmmun

There is a slight indication in >"w75 that if we were certain concerning this
child (who died within thirty days), that his months of pregnancy were
completed (i.e. he is a full term baby) and he would have lived (if he were not
killed), then there would be an obligation to redeem him ([even] after he died).®

Mmoo has a difficulty with >"w99:
=09 /9 TIN 12 N1 %2) NN (x,0n 91 mM2) 93 Y PI9AT NYPY

And there is a difficulty with >"w"9, for the X713 states in 9192 2 299 concerning

one who redeemed his son within thirty days of his birth -
- %5179 933 19X 1T INRY MYNN 9INNY

And the money was consumed by the 772 (before the thirtieth day arrived); after

the time of thirty days, the rule is that his child is not redeemed and needs to be
redeemed again. This concludes the citation from the X7n3.

mdoIN continues with his question on *"wA:
= NI D9) NDT Y1915 XND INIIN N ININ)

And why is it not »179 if myna 9ox8M1?! For it became apparent retroactively

that he is not a ®21; the child lived past the thirty day (test) period.'" Why should 13xn3
mynn invalidate the 7°78?! This disproves s""wn presumption (mentioned previously in this
mooIN) that if YW 1% 1937 12 2°p the 71775 is valid even if the child died before day thirty.

7 See “Thinking it over # 1.

¥ moo1n may derive this as follows. If we were to assume that (even) when Yw7n 72 1237 12 ©°p, the rule would be
that (if he died "> 73n2) he is 715 from 770 (because of 775N WIn j21 11791 [and he was not a wn j2]), then it is not
necessary to for the P19 to teach us by 3771 (when we are not sure if YW 12 195) that he is w5, However, if we
assume that by 1w7n 12 1937 12 0°p there is a 77°79 21, then it is understood that by 311 (where we do not know for
certain if w71 12 193) we require a P05 that he is 705 even though he may have been Yw7m1 17 193. See »"na.

? The X073 there in >"w X3 is 122vn1.

Ot is actually a np1onn there between 2X1w1 27; however the X3 concludes that XMW ®N37:7 that "175 11K,

" oxmw states that the reason he is ™7 11X is because he cannot redeem him now o°w>w T1n2. However if we
maintain (as >"w1 seems to) that by w7 20w 12 2°p he can be redeemed 2°w>w 71032, and this child lived past owHw
indicating that when the 77>79 took place he was not a 791, and he was 7°797 *1X7, so why is he 179 1X.
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mooin offers his view:
= 11795 VTN 121 1791 N1 29NN NI INTI NIN

Rather we must say that this is a 210577 n9°13 which we derive from w757 322 172
a72n -

- 0 /Y T8 PYIN 19V 1Y 0P 199N
That even if »w7r Y22w 3% 299, nevertheless thirty day are required to pass, before
the child can be 7791 (regardless if he is a %91 or not)."

mMooIN anticipates a question on his assumption that the P05 of 1”791 is a 2"1°1a that a 1179 that is
performed before day thirty is invalid even if »w7n 152:

= 993198 DTN 0 'Y NAYY DI (3,055 97 maw) 19 RPOI NP INNNT 2) JY 9N)
And even though that from this 02 (of 7750 wIn 21 1M791) we derive that

every human child that survives the first thirty days is not a 793; this would indicate
that the reason we are not 7719 before ™> o1 is because till then he is a 91 p‘:)l:a.13 It should
therefore follow that if w7n 1937 12 2°p there would be a requirement for 7>79 if he died "> 70
(and also if the 7>79 took place "> o7 and the child lived past "7, it should be a valid 7>79 even if
nwnn 19oKRN1).

mooIn responds:
= 129PD A9 ARDN 2MMIYWN 01 29N U9 19N NNNAA D% /N (ow) 1IPYWIYT 133 Y9N

We also similarly infer that eight days by a %72 is not a 2. since the 7770
writes ‘and from the eight day onwards it is accepted as a 3292°, which would
seem to indicate (as we said previously) that the reason it cannot be brought for a 7277 until day
eight is because it is a 991 po0. It would therefore seemingly follow that if we knew that »w7n 19>
it would be accepted for a J27p (even) before day eight -

= D3IV TIN 1T 0INND NN PYIN II57 ) D 3 991 19N
And nevertheless (even) when we are certain that it was 27n 3, the animal is

(still) lacking the time needed to be accepted for a 1279 during its first eight days
(we do not accept him for a 1277 before he is eight days old). This proves that even though we
derive from the 0°»05 that until eight/thirty days the newborn is still a 751 50, nevertheless the
prohibition (of eight days) and the obligation (of thirty days) are in effect even if we know that
PwTM 193 and he is not a 91 poo. '

"2 This explains why if "> 732 nw»i 199803, he is not "172, since whatever he gave ™ T2 was not a 775 7wy» (but is
considered a gift to the 172), and after '2, there was no money for the ;779 to take effect. Similarly there would be no
need to teach us that "> 712 3171 does not require 7°79.

B If 791 is a 2" that a child cannot be redeemed before ™, then how can we derive from this 109 that after '> he
is not a 993; it could be that he is a 291 until an indeterminate age; however the 770 decrees that 1179 take place after
5. However if we assume that the reason for ov ' is because until then he is a 991 poo then it is understood that we
derive from this P10 that after > he is 991 %901 R¥>. See 0"7n.

'* The eight and thirty day periods are a 3"7°13 (even if Pw7n 123); however since the 7710 indicates specifically this
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moon will now prove that even if »w7n 1937 12 0°p, he is not accepted for a ' 0 129p:
S BT, 19399 SHONMI [9192] 9INRT (3,97 NIYN YNIT NP 9992 NOINTD

As is evident in the first 99 of 11''9 where the X132 asks, from when do we count

a year for a 9122? The X113 responds -
- DY H¥Aa NN BN RN MPYD XYY 1oYW YW MmN 1M Cangany [PN9IY] DYWN 9N 1N

One said from the time that he was fit to be accepted as a 1277 and one said
from the moment he was born, and the X713 continues; and these two opinions
do not argue, one (who says we start counting from day eight) is discussing a case
where this 132 was a an (unblemished) and fit for a 1277,"" and the other is
discussing a case where the M52 is a 21 Y¥2 and not fit for a 127p; the year begins from
birth, for he is fit to be eaten from birth. The X 13 asked even if he is a 21 Y¥2 he cannot be eaten

until eight days, for he is a 951 poo.
- iy 1y RSN AN RY 297 199980 FPWIN 191957 1993 7YY ©YPT BND 1Y 1P

And the X 1) established there that we are discussing cases where they were
certain of this 7152 (whether an or 21 5v2) that »w7n ¥ %>, and nevertheless

(even if w717 172) he is not fit to be accepted as a 127 until day eight. This proves
that regardless of the 7% as to when he is no longer a 51 p50; nevertheless, before the allotted
time, he is not "X for 27 or 179 even if PWII 175,

Mmoo has a different question on s""¥A interpretation that 717V means 372
= ©YUNY 721D WY 9192 %2) 29901 (x,19 97 mnan) DA NIPN 9PHIDAT MY

And in addition, in end of 77129 Y2277 P75 concerning a 1152 that has two heads

the father is obligated -
= 99097 490V M9 NYY 7099 )NV DIYHD 12 19 1Y

to give ten 2°¥»0 to the 371> (instead of the usual five). And the X713 challenges

this ruling from our case of a n wIw 9122 where he is WD (a baby with two heads

cannot live and is a 779°70 so how could he be 2°°m).
= 997D 119D 913 9997 1913 93991 49103 IN)

period, that shows that after this period he is no longer a 751 po, for if he would be a 991 ppo (even later) the 7710
should have written the later period. The 7710 would not have required a 775 for a 791 pod. See 0",

' The mawn in (2,19) M2 states: 19IRN TrOR 712109 (3,0 [RA] 2°127) MKW 2 H¥2 P2 0N 12 7w 7w DIR M
TIw3a 7w, A 122 must be brought for a 1277 (if he is a on) or eaten (if he is a 0 Hv2) within the year.

'® This means from when he is eight days old. The 211 of fwa 7w becomes effective when the 7122 is one year and
eight days old.

' Then the year starts from day eight; for prior to that it is not eligible for a 127p.

' Therefore if he is a 01 ¥2 he may be vrwl immediately at birth, and the year for the am ¥2 begins then.

' We do not begin the counting of the year for this w711 12 195w an 722 until day eight.
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However if nau1 (according to >"w7) means killed, how can the X723 compare it
to that case of 0'wX" *1w where the child is still alive.”

mMooIn adds an additional question on *"w15:
= 2973 NONX 9903 9139199 15D MN RYT T

And furthermore if 7701 means 1771 then the X723 should not have said 59w but
rather 39772 (so there will be no room for error).

mooin asks a final question on *"w7%s:
= NP VTN 1312 117990 0 /Y 7IN 19DV 1993 XN PUN TN NI PIONT 1IN

And furthermore the X9%3 concludes that we derive that a 9701w 7122 is MWD from
779 from the word I8 which is p%r; but since he was killed within thirty days
we derive that he is M from the P09 of wTn J2» PITmN2!!

MooIn now offers his vwo:
- 29990 DUV 19550 9903Y BN 13539 WH9)

And the n''1 explains that the word n w2 means that the child became a 1199w

(he received a wound or a disease which renders him a 71970 [a non viable being]).
$11990 993 MNT DIYNY 7210 YIY 91930 NIMIPNA 99V ND 1D RNV

And now it is a proper comparison to a 9122 that has two heads for that 722
with two heads is also a 99,

SUMMARY

"1 maintains that 7701w 7122 means that he was killed. We may infer from "9
that a W77 195w 7102 is 1792 21 during DWHW.

nN1DOIN maintains that "> 702 there is no 779 21°17 even if YW1 192 and 77v1 means
that he is diseased.

THINKING IT OVER
1. Why does mooin state® that from *"w1 it is 12 1227 732 12 2°p ORT 282 yawn
MY 20 77 M 1wTn; why only 'ngp'?!**

01t is possible to differentiate; that when the child was killed there is no 779 21’11; however when he is still alive
there is a 7179 211 even if he is a 79°7W.

! See “Thinking it over’ # 2.

2 That is why it is necessary to have a 12 from X that he is M5 from 7779 (even though he is after a1 ™).

2 See footnote # 7.

2 See 1"nN.
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2. mdoIn asks (the last question on >"w1) that why do we need to derive 7701w 7132
is 7105 from % when we can derive it from 1791.> However "¢ explained that
1791 is referring to a 791 (Po0) that is not viable; however here where he was killed,
he my have been a viable child. And if B0 is referring to his previous assertion
that 11791 is a 2"77°1x even by W7 192, then he is (seemingly) not adding anything
new with this question.*

¥ See footnote # 21.
0 See (X"wmm?) 2"1An and "HK.
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